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SECTION A (10 * 2 Marks Each = 20 Marks)
Q1. The value ofy = 3x2 + 2x — 5 atx=2is
A. 14
B. 12 2 Co1
C. 13
D. 11

Q2. Why we take log?

A. To make the tedious calculation easier
B. To compare two or more extreme opposite figures 2 COo1
C. To normalize the data
D. All of the above

Qs3. The condition of skew symmetric matrix is
A. A=AT

B. A=—AT

C. A=aA” 2 | col
D. A=—4

Q4. Which of the following is lower triangular matrix?

1 0 0 17 2
A.P:400] B. %ﬁ3 8]
5 3 0 0 0 4
0 2 4 1 0 0 2 co1
CP{408 D. [:21:601
5 3 0 5 3 9

Q5. | Which of the following value you get if you Integeay = xe3*” .

1 2 1 2
A. §e3x +C Bl—zxe3x +C
2 COo1

1 2 2
C.Ee3" +C o3




Q6.

Find the maximum point of this function y*— 3x2 — 24x + 6 which maximizeg
the value of y
A. X=4
B. X=4
C. X=2
D. X=-2

Co1

Q7.

1 3

P=[4 2] 0= ﬂ Find PQ.

A. PQ=[51; BQ = [ig]
C PQ=[150_ D. Qff 150]

Co1

Qs.

Which of the following condition is used toeck the viability of system of linea
equation.
A. Hawkins Simon Condition
B. Hawkins Pressure Condition
C. Simon Peter Condition
D. Michel Porter Condition

Al

COo1

Qo.

If two company has to be compared graphically whare company 1 has yeatr
turnover is Rs. 100000/- and other company 2 haarlyeturnover is Rs
10000000000000/- After applying logarithm what wibhbk the value in the graph f
both the company?

A. For Company 1 itis 6 and fofcompany it is 14

B. For Company 1 it is 5 and fof®company it is 13

C. For Company 1 it is 6 and fof2company it is 13

D. For Company 1 it is 5 and fof®company it is 12

Co1

Q10.

Matrix AA = [é _21 2] what is the value of AAT

Ay 3l ﬁ 236]

B. [i 216] [E; 236]

COo1

SECTION B (4* 5 Marks Each -20 Marks

Q11.

Differentiationy = 3x? + 2x — 5 at x=5 and find the value.

5

CO2

Q12.

The total cost and total revenue of a firm are gibg C = x3 — 12x % + 48x +
11 andR = 83x — 4x% — 21. Find the output

(1) When the revenue is maximum

(i) When profit is maximum.

5

CO2&
CO3

Q13.

Find the producers’ surplus for the supply functios= 3 + x?2

CO2&
CO3




When the price is 12.

Q14. 2 5 4
Find the value of determina 4 3
6 8 10 5 CO3
Section D (3* 10 - 30 Marks)
Q15. | Test Hawkins-Simon condition for the viability/vdilly of the system:
steel tools transportation
steel 0.2 0.3 0.2
A= tools 04 0.1 0.2 10 | CO3
transportation L0.1 0.3 0.2
Q16. | 10 watches are sold when the price is R@Watches are sold when the price i$
Rs. 60. What is the demand equation? Assume thamtbourve to be a straight line 10 CO3
Q17. . 4 )
The average cost function (AC) takes the foAG _6+ 2-0.30+ 0.08)° and the
. o2 @
total revenue function takes the fofiR = 2Q 5 10 CO3
0] Find profit function for the given market at Q=4
(i) Also, find marginal cost and marginal revenue.
SECTION-D ( 30 Max)
Case Study
Q18. Financial investment decision making is ergly difficult due to th CO4

complexity of the domain. Many factors could infhee the change of sh

prices. Financial Genetic Programming is a genptmgramming base
forecasting system, which is designed to help usestuate the impact ¢
factors and explore their interactions in relatofuture prices. Users chann
into FGP factors that they believe are relevarnhéoprediction. Examples ¢
such factors may include fundamental factors sgctpace-earnings ratio'
“inflation rate" and/or technical factors such asiays moving average", "6
days trading range breakout", etc. So in order ake tdecision abou
investment, an amount of Rs. 50000 is put intogtlmgestments at the rat
of interest of 6%, 7% and 8% per annum respectividig total annual incom|
is Rs. 3580. If the combined income from the fived investment is Rs. 70
more than the income from the third, find the antafreach investment b

re
el
nf
3_
oS

e
0

using matrix Inverse method.









